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If de+(A) - ad -bc 0, then the origin
is an 1solated critical point

y region

there is a smal
l

region aroud
(0,0) where it

is the only c.p,

e

The charaeteristic egn: det LA-AI( -e

хe-тр +D=0

T=trace (A) = a+d

D=det (A)

The cigenvalres

We can classify the critical point 10,0)

r

Type of c.p.
stable?

real, distinct

same sign

improper
node

yes if both
入く

lasuymp. stable)

real, distinct

opposite sigh

real, eqnal

sadde point

proper or

improger node
Yes, if яс0

Casuymp. stable)

NO


















